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Homeisthefirst School wherethe Childlearnshisfirst lesson. He sees, hearsand beginsto learn a home.
Itishomethat buildshis Character. In agood home honest and healthy men are made.
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ENGLISH FIRST LANGUAGE

Class — X
Full Marks: 50
Choosethecorrect answer from thegiven alter natives: 1x2=2

() Thefirst book that little Greene read was about an adventure of

(@ avoyager (b) adetective

() apilot (d) aknight

(i) The“dslentwood” iscomparedto

(& acottagethat isempty (b) abarnthat isabandoned

(¢) achurchthatisshut (d) agraveyardthatisforsaken

Answer thefollowing question in about 15words: 1x1=1

WhomdidMamzelleAurlielivewith?

Answer thefollowing question in about 15words: 1x1=1
What imagedid Edwin Muir createto describethe* evening sound’ ?

Answer thefollowing question in about 25wor ds: 2x2 =4
(@) What isthemood of the poem * Childhood’ ?

(b) “Wherev'r | trod/ | saw thegreen and verdant sod/Turnred...”

How did Hawthorne bring out the horror of war in the poem | left my low and humble home ?
Answer thefollowing question in about 150 wor ds: 7x1=7
"Hehad avenged hiscrime.”

What wasthe‘ crime’ ?How did heavengeit ?

Answer thefollowing question in about 150 wor ds: 7x1=7
“Tofight doudisvery brave’

Show how Emily Dickinson comparestheinner and outer strugglesin the poem.

Answer thefollowing question in about 150 wor ds: 5x1=5
“Aterrible scream-aprolonged yell of horror and anguish-burst out of the silence of the moor.”

Whose cry wasit ? Briefly describe the incident that happened after Holmes and Watson heard the
frightful cry ?

Do asdirected: 1x3=3
(@ If youdo not stop biting nails, youwill beintrouble. (Use'unless)

(b) Comeon, | wasjust pulling your leg. (Identify theidiomatic expression in the sentenceand writeits
meaning)

() Ancient Indiansknew the scienceof ship-building. (End with'Indians)



10.

1.

Report thefollowing conver sation in about 50 wor ds: 3
Peter Stockmann: Wasit necessary to makeall theseinvestigationsbehind my back ?

Dr. Stockmann: Yes, because until | wasabsolutely certain about it-

Peter Stockmann: Then you mean you are absol utely certain now ?

Dr. Stockmann: Surely you are convinced of that.

Peter Stockmann: Isit your intention to bring this document before the Baths Committee asa sort of
offica communication?

Dr. Stockmann: Certainly. Something must be donein the matter-and that quickly.
(Anextract from An Enemy of the People by Henrik I bsen)

Writetheprécisof thefollowing passage: 7
Tom and Becky had tripped dong thedark aideswith therest of the company, visiting thefamiliar wonders
of thecave. They cameto aplacewherealittle stream of water, trickling over the ages, had cut an opening
inthestone. Tom squeezed hissmall body inand found that theinside hel d gloriousviews. Becky responded
tohiscall, they made astone-mark for future guidance, and started down exploring and viewing. They
came upon cavesinfested with bats. In the process of running from them, their candleswere put out and
they lost their way. Soon they realized that they had | ost their moorings.

Writean essay in about 250 wor dson thefollowingtopic: 10

e Pleasureof reading



ENGLISH SECOND LANGUAGE
Class — X
Full Marks: 50

A. Readthefollowing passageand answer thequestionsthat follow:

| was having teaat home on the evening of 30" January, 1948, when | wascalled to Birlahouse by an
urgent telephone. Gandhiji had been shot on hisway to aprayer meeting. | wasnumb with shock as| got
intothecar.

AttheBirlaHouse, Gandhiji’ srelativesand followers had gathered round hisbody. Therewassilencein
theroom as Gandhiji breathed hislast. Words of Bapuiji’s death had spread through Delhi likeaflame
fanned by wind. Sad groups of men and women had collected around BirlaHouse. Out of every window
one could seeabrown blur of faces. They did not makeasound. Therewasan unnatura silence. It was
asif timestood il for thosefew minutes.

The peopleweretoo stunned to speak inthe beginning. Later they clamoured wildly, shouting and crying.
They jostled oneanother inastampedeto bresk into the house. They camed alittlewhen it wasannounced
that they would be allowed to see Gandhiji beforethefuneral.

Activity 1
Writethecorrect alter nativeto completethefollowing sentences: 1x5=5

a Thenarrator washaving

i) rice
i) bread
i)y tea
iv) fruts
b) Thenarrator received atelephonecall inthe

i)  moming
ii) afternoon
iy night

iv) evening

c) Gandhiji wasshot onhiswaytoa

i) fargahering
ii) prayer meeting
i)  politica mesting

iv) marketplace

d) Thenarrator went to BirlaHouse by

) car
i) bus
i) tran

iv)  rickshaw



€) Timeappearedto have stopped for afew

i) hours
i) days
i) minutes
iv) months

Activity 2

Completethefollowing sentenceswith infor mation from thetext:

) AttheBirlaHouse, Gandhiji’s

1x3=3

i)  Wordsof Bapuji’sdeath had

i)  The peopleweretoo stunnedto

Activity 3
Answer thefollowing questions:

i)  What could one see out of every window?

2x2=4

i)  Whendidthe peoplebecomealittlecalm?

B. Readthetext given below and answer the questionsthat follow:

Themountainand thesquirrel
Hadaquarre:

Andtheformer calledthelater ‘LittlePrig.’

Bunreplied,
“You aredoubtlessvery big;
But al sortsof thingsand weather
Must betakenintogether,

Tomakeup ayear



And asphere.

AndI think it no disgrace

To occupy my place.

If I’'mnot solargeasyou

You arenot so small asl,

And not half so spry.

I’1l not deny you make

A very pretty squirrel track;

Tadentsdiffer;

al iswdl andwisdly put;

If I cannot carry forestson my back

Neither canyou crack anut.’

Activity 4

Writethecorrect alter nativeto completethefollowing sentences: 1x4=4

)

i)

)

\Y)

The quarrel was between the mountain and the

a nut

b) track

c) wesether

d squirrd
The“later” isthe
a uirrd

b) mountan

c) quard

d year
Thesquirrel isvery
a sy

b) hg

0 lay

d
Themountain can carry onitsback a
a) sphere

b) forest

c) wesather

d year




Activity 5
Completethefollowingtable: 2x2 =4

Sl. No.| Satement Reason

[ Theformer calledthelater ‘ LittlePrig.’

i Neither can the mountain crack anut nor can
thesquirrd carry aforest.

Activity 6
Split thefollowinginto two sentences: 1x4=4
a Having heardthenews, shefainted.
b) Itwasraningheavily, when shereached home.
c) Ashoka whowasagreat king, helped in the spread of Buddhism.
d) Shabnamthought that shewouldwinthefirst prize.
Activity 7

Replacetheunderlined wordswith suitable phrasal verbsfrom thegiven list. Changethefor m of
verbsif necessary. Writetheanswersin thegiven space. Oneextraphrasal verb isgiven in thelist:
2x3=06

i) My older brother isin search of ajob. ’ ‘

i) | cannot tolerate hisaudacity. ’ ‘

i)  TheHeadmistressdistributed booksamong the students. ’ ‘

[List of Phrasa verbs: give away, turn down, look for, put up with]

Activity 8
Writeadialoguewithin 100 wor dsbetween two friendson your feglingsabout not goingto school for
alongtime. 10
Activity 9

Supposeyou arethe Cultural Secretary of the Sudents Club of your school. Writeanoticein about
100 wor dsinfor ming the studentsabout an Online Debate Competition for the students of Classes
I X and X of your school. 10
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